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2 = H® HI&Atd ol | A= @-®
ArdHl =] =r= le ] = PN
20114 DHXI 0 0 389,076
20128 & 97,710 97,500 352,540
20139 & 428,441 428,091 A17,187
20145 & 344,007 331,152 124,960
20158 = 317,592 317,382 84,832
2016 = 455,514 455,514 N26,544
20178 = 669,002 669,002 AT 631
A 2,312,356 | 2,298,641 860,046
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SAHFE - SAZUEEDIS (et E e
_ _ OilXI & GilEred
= Ol XI(EH) & Z _ _ Bl
20158 2SN 0ECLEHE@ | 2017EHCLEHHA® 52(®-0)
2 907,677 860,046 AA47,631
GIbNE=, By | 907,677 860,046 AA47,631
fol=2# 907,677 860,046 AA47,631
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AN -

Oll&kRt== - =0l

A2 =

OPN=ENES= (CHe): ® )
= & Al = Al = Al -
= = >l HEH E-2 N 52 = = INE-£ HEACR|=H s &
= Al 1,866,788 1,721,817 144,971 | & A 1,866,788 1,721,817 144,971
Y= 0 0 0| HIEXrEAIZHI 1,216,680 1,216,680 0
213 0 0 SR AN 0 0 0
= 0 0 0] ez 0 0 0
ey 0 0 0| 7123 0 0 0
HESAS3 > 0 0 0|0iIEt= 0 0 0
O Xzl 641,811 497,956 143,855 | G X132 650, 108 505,137 144,971
Ol=== 0 0 0| nea2ze2as 0 0 0
Ol Rt==& 24,977 23,861 1,116 | ci+=32ci2ae 0 0 0
J|Er==E 1,200,000 1,200,000 0| JIEHKIZ 0 0 0
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Ol &bXb2= - = 0llat
AFE ¢ E22SHEFIIS

@ A= (cHel &)
TBae ooy b =g NERR-
T T
200 Ml 1,212,027 1,210,001 2,026
210 ZAEN2=L 12,027 10,001 2,026
216 OlXt==2 12,027 10,001 2,026
216-01 SZ0=0I K==L 12,027 10,001 2,026
OO0lIXIZ OIk 12,027,000 = 12 007
220 LAIENI2=L 1,200,000 1,200,000 0
22 fE3 1,200,000 1,200,000 0
222-02 LR E=S 1,200,000 1,200,000 0
OEz=ERRAUXRES
1,200,000,000& = 1,200,000
700 E8+=LUSHUFHH 654,761 511,816 142,945
710 BHd2S 641,811 497,956 143,855
714 OIXI33l =+ 641,811 497,956 143,855
714-01 OIXI=&l== 641,811 497,956 143,855
720 LIS HcH 12,950 13,860 2910
722 HIE=X0l== 12,950 13,860 2910
722-04 &3 01 At==¢ 12,950 13,860 2910
Osg2eli= = 0k
12,950,000& = 12,950
= & & A 1,866,783 1,721,817 144,971

- 141 -




BIHIE 1 20174
OflAFRES: @ =0fl At
HRE  EREE=2)|2
® A (9l ®g)
AN .22 . HH . O - ARAY - BES L Sl T et
PNE
c21 1,866,788 1,721,817 144,971
c2 1,866,788 1,721,817 144,971
H2l5tD OHEE XNERY = 1,216,680 1,216,680 0
e e S VIEI(S==E =) 1,216,680 1,216,680 0
R =3 1,216,680 1,216,680 0
201 Ls2gH| 5,760 5,760 0
01 Al 5,760 5,760 5,760 0
@FIEIER=1E] 4,400
- AolRlRs NBHE YL 25 %1i%%,ooo%*4§| ) 4,400
O2%+g 1,360
- 2XTAE EEH 2Y 100,000252%+43| = 800
- ER2H=|Z 2240|923
70,0002 *424+23| = 560
401 AlEHIZ20HH| 1,210,920 1,210,920 0
01 Al&H 1,208,520 1,208,520 1,208,520 0
OSE=72A 5,000,000 *110a = 550,000
OLST2HH|ZA 5,000,00024*110a = 550,000
OSUMSTH|ZA 1,000,00024% 10004 & = 100,000
O2a=7 geg M2 Axt 710,00020* 1200 = 8,520
03 AlE=CHH] 2,400 2,400 2,400 0
= o T o =
OB&=7 2=2 0=y 2 S o0 o0stepats2s! - 2 100
HeE=(E21) 650,108 505, 137 144,971
SEIE(ETR2EET7|2) 650,108 505, 137 144,971
T22E=70|2 oliX| 650,108 505, 137 144,971
602 Ol XI2 650, 108 505, 137 144,971
01 oE= 650, 108 650, 108 505, 137 144,971
OtsE olga 650, 108,0002! = 650,108
=z g A 1,866,788 1,721,817 144,971

- 142 -




SIAME 20174
Ol &bXb2= - = 0llat

SIHRE ¢ 22112 (St =S)
A o
C = -
e ®ol3 2 | xnoz ifff; ORI | JIEIA)
20114 DHXI 17,155,036 0 469,550| 16,685,486
20128 & 1,118,218 0 22,721 1,095,497
20139 & 981,258 0 52,388 928,870
20148 & 1,014,771 0 47,102 967,669
20158 & 1,182,446 0 33,357 1,149,088
20169 &= 1,223,861 0 23,861 1,200,000
201789 & 1,224,977 0 24,977 1,200,000
Al 23,900,567 0 673,956 | 23,226,610
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Xl 84 OH
= (=T |
c g &y
oA g 16 HISXtA olegy | XY= @-®
AriH] U J|=Fl | 2|2 A
2011 DHXI 16,035,400 15,855,132 0 180,268 1,119,636
20129 & 1,047,338 1,043,463 3,875 70,880
20138 & 1,022,999 1,018,087 4 912 N4, 741
201449 & 1,021,501 1,016,424 5,077 26,730
20158 & 989,860 984,835 5,025 192,585
2016 &= 1,216,680 1,216,680 0 7,181
2017 & 1,216,680 1,216,680 0 8,297
A 22,550,458 | 22,351,301 199, 157 1,350, 108
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=
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Ol &bXb2= - = 0llat

ARZ ¢ ABHEIIS

OPN=ENES= (CHe): ® )

- = A E Xl = A E|
g = =g HEZ4=QlH g2 g = NS HEHAZX|SH =

E Al 827,150 706,205 120,945 | & Al 827,150 706,205 120,945
= 0 0 0| HISXHE A HI 182,905 182,260 645
2x=3 0 0 F Ak Ard| 170,000 170,000 0
A= 0 0 0|82 0 0 0
ey 0 0 0| 212 0 0 0
VSRS 0 0 0| GiIE= 0 0 0
GIXI=al 783,376 668,864 114,512 | GIXI= 474,245 353,945 120,300
ES=! 0 0 IBEEE A 0 0 0
Ol Xt==¢ 8,774 7,341 1,433 | i3IS 0 0 0
JIEt=& 35,000 30,000 5,000 | JIEtKI= 0 0 0
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S e ESTE:
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Mg cew | S5 | m2 4B

200 Mi2l=g 43,774 37,341 6,433

210 ZAEN L= 8,774 7,341 1,433

216 O|Rt==& 8,774 7,341 1,433

21601 30 S0t 8,774 7,341 1,433
OGIXIZ 1% 8,774,002 = 8.774
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223 WEZLIUEHES 35,000 30,000 5,000
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= g g A 827,150 706,205 120,945
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EX .92 . FH - B2 ARAY - BYS Xl & S GmE==h
pNETl!
OAIZOHMX|210] OIRI0] JISAIE F3YUA KT
A =
50,0009 %24 24+73] = 8.400
OAIENE JIBYUA E XIGCEHs S|
50,00021560%+83| = 24,000
ORN STAIZ AlD) ZAZ 20,00024%1521 = 300
307 QIZHOI& 4,000 4,000 0
DIZIAAAIRIE X 4,000 4,000 4,000 0
ORQlAly stats] &I} Sl XIR 4,000,0002 = 4,000
Ol AlMEH OLEI2IZ 20,800 15,800 5,000
1 Uer29y| 800 800 0
Ar222|H] 800 800 800 0
OYEA2H| 800
- OlRI0] AIEOIA HEo EXT SX|E4
100,0002%57H = 500
- O{2I0] JIBAIZ 24BHHHA TXITH KR
100, 00024#30H = 300
307 QIZHO|F 20,000 15,000 5,000
oiotoler 20,000 20,000 15,000 5,000
OOBI0| AlME OtEZIZ| IS 400,00024#505] = 20,000
SIS (2HAM D) 474,245 353,945 120,300
E(SASIMD) (AZRE)|Z2) 474,245 353,945 120,300
AEXSII2 0 474,245 353,945 120,300
602 GIIXI2 474,245 353,945 120,300
X2 474,245 474,245 353,945 120,300
o=l = 474.,245,0002 = 474,245
X = g A 827,150 706,205 120,945
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Ol &FXE= - 20 A
SIHRE - ABEEIIZ2 (CH: &)
x4 o
Aacd - X284
H@ PSRb=; g2x2 p U= . Gl== OlAk=g | JIEtE
(O Kt &)
2011 DHAI 2,812,450 0 330,425 0 391,129 361,019 1,729,877
20128 &= 390,740 0 167,266 0 131,914 30,649 60,911
20138 &= 220,472 0 10,140 0 120,982 34,852 54,498
20148 277,871 0 8,955 0 109,068 24,926 134,922
20158 &= 157,141 0 6,600 0 50,997 24,442 75,102
20169 &= 47,341 0 10,000 0 0 7,341 30,000
201789 43,774 0 0 0 0 8,774 35,000
Hl 3,949,789 0 533,386 0 804,090 492,003 2,120,310
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= (=T |
o o - RkoH
oA d 1® HISXHY | XA | eaeey | HYSR | W38 | - | @@
AFIH oH| | ¥ o=l | p|2AE | 2|l2AE =
2011 DHXI 2,019,657 1,354,657 665,000 0 0 0 0 792,793
20129 & 347,291 108,429 130,000 108,862 0 0 0 43,449
20138 & 138,871 73,662 0 64,732 0 0 477 81,601
201449 & 115,740 84,991 0 30,549 0 0 200 162, 131
2018 & 138,820 138,540 0 280 0 0 0 18,321
20168 &= 362,260 192,260 170,000 0 0 0 0 A314,919
20178 & 352,905 182,905 170,000 0 0 0 0 2309, 131
A 3,475,544 2,135,444 1,135,000 204,423 0 0 677 474,245
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= Ol XI(EH) & N _ _
20158 2SN 0ECLEHE@ | 2017EHCLEHHA® 52(®-0)

2 783,376 474,245 /309, 131
GIbNE=, By | 783,376 474,245 A309, 131

fol=2# 783,376 474,245 /309, 131
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